
	          Argument
	               Yes.
              Why?
	                  No.
                 Why?

	1.An engineer’s help is required.




	
	

	2. A pedestrian was knocked down by a car.




	
	

	3. Other people didn’t suffer.




	
	

	4. The injured man called the Emergency service by himself.



	
	

	5. The accident took place outside the town.




	
	

	6. The emergency service car was not available at the moment.


	
	

	7. The operator found out the name of the calling person.


	
	



